® V81=9

® A& 0.49
@ 6.4 9] AlE=

849 A7




@ V100 - V132
4% 32
@ - 5 )
v AV
® ()xm

@ V100- V132 =10-13=-3

V4 x 32 3
B :—2X§:—3

Ty S __
® -./(-5) xm— 3
@ -V52 + V6d = -5+8 =3
® (~2)"x (¥8)"+ (-¥0) = -3

@ -




3.

O<a<1 g, Va+ /la-1)7 & 225 steiet.

»
> Het: 1

a>0°‘3E\/_—a
a<1olB2 \/(a-1)2=—-(a-1)=1-a
kA ‘/_+\/a—12=a—|—1—a=1°]‘:}.




4. O A Aasd W, 4 e Ad% x 8 Fotoleh

> E.

> HMet: o3

/400x B 10\/’

@ﬂﬁx—3ﬂ




5. VB0—x 7 AQ4T} RS Sh A% x F AMAR 2L ghe?

D1 @ 5 ® 9 @ 14 ®)25

B

50 Hoh 22 Algs 5 7t & 5 H AHHE FotH
49, 36, 25 ©] 1, o2 WL A5 x F AWNAR e
ZHe V50— x = 25 7} = wo]t},

V50 —x = V25

50 — x = 25

ox =25




the 52 2 LA A bag 2e?

1 1
(37,3, ~V3, =,

V3
® -3>-V3>—~>_Lo e
1 1\/3 °
®—3>—§>—$>—\/§> (-3)2

@W>—é>—%>— 3>-3
@ \/W>—3>—\/§>—%>—%

G —%> W>—\/§>—3>—%

3 9" \v3
1 1
——>——>—-vY3>-3
3 V3
1 1
(-3)2>-->-—>-v3>-3

37 43




flo

e 5 27

SAof RHESheE A x 9

3< V3x<5, V40 < x < V70

vV V. v V¥
0
(LA (L (1]
=
I
~J

02
o
=
Il
o

~&B

3=1V9< V3x<5= V25 & W=
x=4,5,6,7,8 °|tt.,

VA0 < Va2 < V70 & THEsH=
x=17, 80|t}




A7k

o\
l_l
ﬁnz
7 N\
=)
©
— |
—
Ha\l -
. HaN|
S <
2 S
©
| |
— i
| RIN

)3 ® 4 @ 5 ® 6

D 2

RN

V0.2, V3+2,

CEES

13
10

HE

160
100

V1.69 =




@ _

© Vi

© 3 wék;‘%ﬂ#olu}.

- 01%@—}?—7]’0 g 59
Vox Y Ao I

120]ch

> o

> =

> =t

> ©

51 Lo
5 £ Fese

©3V4 =
£ 60| B2 ZpAgol B 72
o 247t oty
V0.01 = 0.1 0|22 A7} obd | i
v T .Z’\—O]]':I-.

\/_
1 .__E P (o] ]41:]‘




Ay yB()

@ A 9 HEE A(-V2) ol
© B 9 #uLE B2+ v5)olth

©® a = A A E ALt A4 o o Hol &
o -2t

©® a, b Aolols R3] B 47t EAF,

© a °b = frEfrolt

Q@ A o FHBE A(2- V2) Otk

©® RE 29l £ 9o Ao AYAZ HLsng 4 =
SA 4 A gt St

@ a & b = FE|5o|t},




@4> V3+2 @ VII-3> VII- V8
T 1
® 3> V13 @ \/;<§
® 2+ V2>2+ 3
D4-V3-2=2-3>0
4> 342
o VII-3-(VII-V8) =-3+ 8
=-V9+V8<0
Lo VII-3< V1I- V8

®2+ V2-(2+ V3) = V2- V3 <0
L 24V2<2+4 43




12, o % 524 V2 + 13 23 Aol

@ 3v2-1 @ V3+1
@ V2+ V3 @) v3+2

V2=1414 0|2 2 +1= 2414
V3=1.732 0|22 2+/3 = 3.464
® V3+2=3.732




-

7429] Zol7k 62 o], A2o] dol7t 42 & AAZ g Wol7
22 B0 G wo] 2ol x 5 avh o B2 UEhE? (b

AT Q47 G AA%)

_-6/2-- - -

13.

@D 23 @ 343 @4\/3 @ 5v3 ® 6vV3

AA17F o] Yol 6v2 x 4 V2 = 48 O]},
whabA] x2 = 48 o] B2 HALZFE o] 31 H o] ol 48 = 43

olt}.




5
[\
S|
lo
il
il
v
o
e
&
2
re
>
8
S
1o,
2_(
)
+
ol
-
o
f
o

B
\/> \/m \/T_\/g
432 24 % 33 22%32 6
La=6,b=5
La+b=6+5=11




15. V2=a, V3=0b 2, v0.1536 9 3t-2 a, b = #A LeERHA?

2 4 8 16 32
@ %ab @ 2—5ab @ 2—5Clb @ 2—5ab @ 2—56117

1536 = 162 x 6

oTegg . Y167x6 _ 16V6 _ 4V6 _ dab
‘ © 10000 100 25 25




\/_

WG fElekstAEY —— ZF =i o] wl, A4 a 9
27

@® 2 @ 3 ® 5 @10 ® 12
3va_ V6 3vV6a +oa

— X — = —_

2v6 V6 2X%X6 4

Véa V15

T -2 BE

V6a =2 V15 = V60




® 45

10b+14a_10\/7+14\/3
a b 5 \T
10V35 1435

~ 75 7

=2V35+2V35=4V35
m=4,n=35912%2 m+n=239




18.

V45 + V80— k V5 =0 & of, §2]4 ko] gH2?

@5 @6 @7 @ 8

3V5+4V5-kV5=0
7V5 = k5
k=7




19. a:b+[% ol b

vV V
0
L
|
=



23 242 _

20. £ 74s] shH?
\/§_1+‘/§_1 | ot

@® 5+ V3+ V2 @ 5+V3+2V2 @ 5+2V3+ 42
@7+ V3+2v2  ® 7423+ V2

~&B

2V3(V3+1)  2vV2(V2+1)
31 2-1
_6+2V3

+4422

=3+ V3+4+22
=7+ V3+2V2




21.

I
rgt

Al
o]

‘:}g*ﬂ—l—ABC—f]"’H ot o
&

TAE e Aoz 54

A
VAl

A

o i

Fote
a

a9
=TH?

rE_w

nu

ille
ofx

A=V5+V3,B=V5+1,C=3+3

DA< B @ A>B ® A<C

B>

(A-B=(V5+V3)-(V5+1)

=v3-1>0
A>B

(20 A-C=(V5+ V3) - (3+ V3)

=v5-3<0
LA<C
1), (2)¢] Aitof eJste] B<A < C




22. U3 AlFLEE o835t V31.29] S F5HH?

4= 0 1 2 3 4 5
25 15.000(5.010(5.020(5.030|5.,040|5.050
26 |5.099(5.109(|5.119(5.128|5.138(5.148
27 15.196(5.206(5.215|5.225(5.235(5,244
28 15.29215.30115.310(5,32015.329(5.339
29 |5.385(5.39415.404(5.413|5.422|5.431
30 |5.477|5.486(5.495(5.505|5.514(5.523
31 |5.568(5.577|5.586(5.595|5.604|5.612
32 |5.657|5.666(5.675(5.68315.692|5.701
33 |5.745|5.753|5.762(5.771|5.779 5,788
34 |5.831(5.840|5.848(5.857|5.865|5,874

@ 5.831 @5.586 ® 5.495 @ 5.675 ® 5.404

V31.2 = 5.586




23. AFTEANA V2 = 1.414<Y o, o] & o] 83} 0.0008 o &

S
@® 0.2828 @0.02828 ® 0.002828
@ 0.0002828 ® 0.00002828

8 242 2828
V0.0008 = 4/ = = = (.02828
0.0008 10000 100 100




V3 O] &% HEL a B B, aa+8) -

@0 @ 1 ® 2

@ 3

7 9] F2?

® 4

4<V23<50B2 a=23-4
a+4= 23 9 FHE AFsHE
a® +8a+ 16 = 23
a>+8i=7
ala+8)-T=a?>+8a-7=0




2x2 +ax -3 9

25.

©))! @ 3 4

@ -3

(x-1)(2x+3)=2x2+x-3

2x% +ax—3




26. g IRT 2 ArkelEe] Yolrl 2 +ox+9 A ul, o] AbrtelE

Eole?

x—1
D 2x+1 @)2x+3 ® 2x+5
@ x+4 ® x+3

Attha] & 9] 0|5 p, Yol|E § 2t 514
S = %h(x— 14+x+7) = %h(2x+6) = h(x+3)

232+ 9x+9=(2x+3)(x+3) = h(x+3)°| B2 h=2x +3
ojtt.




27. 2x - | & ASRoE?
@2()64—%) <x—%> @ 2(x+1)(x—%)
® 2(x+%) (x-1) @ 2(x+1)(x-1)
® Sx+ (-1




28. (x—1)(x=3)(x—5)(x=7) + k 7} FAAFA ] HEB 444 & o

29

® 2 @ 4 ® 6 ® 11 @16

B ,
(x-Dx-7)(x-3)(x-5)+k
:( - 8x+7)(x>—8x+15) +k
—Sx=A=% EOH,
(A+7)(A+15)+k
=A%+ 22A+ 105+ k= (A +11)2
5105+ k=112 =121
k=16




29. 4x?—dxy+)? +4x-2y B AFEAFAHY (2x - y) (Ax - By + C)
7t =tk A+ B+ C ©] & Foteieh
> =

> HE:. A+B+C=5

B ,

4x2 —dxy+y2 +4x -2y = (2x—y)2 +2(2x - )
=(2x-y) (2x-y+2)

L A=2 B=1,C=2

L A+B+C=5




30. x* -y —x+5y-6=A(x+y-3) . A5 7o

O x+y+2 @ 3x-y+2 ® x-y+4
(@)x—y—i—Q ® x-3y+2

~&B

22—y —x+5y—6
=x*—x— (> -5y +6)
=x?—x-(y-3)(y-2)
={x+0-3)}{x-0-2)}
=@ +y-3)(x-y+2)
LA=x-y+2




101

31. (3-2v2)"" (3+2v2)" & Aot

[ =
> ®EeH: 1

(FA)=1(3-2v2) (3+2V2) 101 =1101 =1




32. a:1+\/§,b:1-\/§<>gcq1,§ -2 9 3ot

D -4+2 @ -2v2 ® 22
@4«/5 ® 62

B

ab=(1+V2)(1-V2)=1-2=-1
a+b=(14+V2)+(1-+v2)=2
a-b=(1+V2)-(1-V2)=2+2

a b>-a?
b ab
—(a+Db)(a-b)

ab
-2x22
T
=42

QS




the 2008 0§ oto] 2 +)2 & Fofolel,

© 3x+3y+x%y+xy> =36

=
[=

>
> ®™et: 4

od =

~&B

3x + 3y + x2y + xy% = 36

3(x+y) +xy(x+y) =36

(x+¥)(3+ xy) = 36 1A

xy = 60|02 x +y=40]|r},

a4y = (x+y)2-2xy
=42-2x6
=16-12=4




